
INST ALLA Tl ON INSTRUCTIONS 

Tegiwa 24mm Rear Anti-Roll Bar 

2002-2005 Honda Civic Type R 
SKU: Tl-24MMRARB 

.

NOTE: This Tegiwa 24mm Anti Roll bar should only be installed by a qualified mechanic 
experienced in the installation and removal of suspension components. Please read instructions 
from start to finish and verify the parts in the parts list before beginning installation. 

Parts List 

Item 

Anti-sway bar (24 mm) 
U bracket 
Pivot bushing 
Rear brace 
Spacer 
M12 x 1.25 x 90 HHCS 
3/8 Male Heim 
3/8 Female Heim 
3/8-16 x 2.00 HHCS 
3/8-16 x 2.25 HHCS 

Quantity 
J 
2 
2 
1 
2 
2 
2 
2 
2 
2 

Item 
M 12 Flat washer 
M8 x J.25 x 25 HHCS 
5/16 Flat washer SAE 
5/16 Flat washer USS 
Tnstruction sheet 
Grease tube 
3/8 Flat washers 
Heim spacers 
3/8Jamnuts 

Quantity 
2 
4 
4 
4 
I 

l 
8 
14 
2 

I. Park vehicle on a smooth, level, asphalt or concrete surface. Block front wheels. Jack up rear end

of car and support with jackstands. Remove rear wheels and tires. Remove stock sway bar,
brackets and end links.

2. Locate the pivot "D shaped'' polyurethane bushings and tube of special grease supplied in the
hardware kil Cut the end off the grease tube and apply the grease to the bore of the polyurethane
bushings (in the bole). Open the bushings and snap them over the new anti-sway bar, as positioned
on the stock bar. PJace the new brackets (supplied) over the pivot bushings.

3. Remove lower control arm bollS. Mount rear brace using M12 bolt, washer and spacer provided.
Place spacer on the backside of brace. Tighten Lo factory speci:ficatious_ (See figure one.)

Figure 1 Driver side as vjewed from underneath 






